











































































































Iq connecting wits LS Theory Lecture m

02 09
critical value selectors
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Critical value selectors
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A more subtle result

tinequality
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Refinement

Q what happens when we have an
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set

1270














































































































so A App 8244713
the Courant Fischer Thm
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Fixing the gap all eigenvalues occur

By continuity assume airs are distinct

Assume that one of the eigenvalues
does not oecure

Xi C Ziti
4 11

dei Mit
Two ways to rearou

D As in refinement of Ls
Then crit Q are not isolated

2 By passing to 112pm

Then Q chit is contractible
to IRPi and

Q chit o IRpiti
impossible

13090
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The origins of Ls theory is

Thin CLS 1929
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L N IR the length functional

By def Critch simple closed
geodesics
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the Palais Swale condition
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Rink Ps condition does not involve
the flow of If One can have

PS satisfied without the flow
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Baek to Minimex

setting with some case
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